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(1) BEIEE
= i) = = 4,900,000 4,867,000 33,000
k1T 3 M R 5t UX A 12,000,000 8,800,000 3,200,000
F ¥ OB I A 838,000 400,000 438,000
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M X %5 10,000 10,000 0
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REE AR 237,863,000 | 145,797,000 92,066,000
SR S R L IR A -7,102,000 | -4,292,000 -2,810,000




Z Db st

SME6FL4R 1B »ODMIE3IA31IHET

(B 1 H)
#E 6 FEA 5 F£EB 1 REEA-B
| —fi% IE Bk B E 38R D B

1. BEBBDIP
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= EY s =i 4,900,000 4,867,000 33,000
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F ¥ OB I A 17,468,000 17,109,000 359,000
Z IR M OB £ =% 7,947,000 8,425,000 -478,000
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w B X B B 5,051,000 2,238,000 2,813,000
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X i A B % 1,918,000 1,556,000 362,000
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= i) = = 7,700,000 | 7,656,000 44,000
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= & & 400,000 400,000 0
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B & B 157,000 181,000 -24,000
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